Last Updated: 12/14/2021

CITY OF STOCKTON – PUBLIC WORKS DEPARTMENT QUESTIONS & ANSWERS

2021 NEIGHBORHOOD TRAFFIC MANAGEMENT PROGRAM CITY PROJECT NO. WT16008

1. Question: We would like to request a location map for the installation of the

Traffic Calming Devices for the above referenced project.

Answer: A location map has been uploaded to Bid Flash under Plans,

Attachments & Agendas.

2. Question: Can the city provide information on how many of each item will be

installed at each location? For Example, number of Speed Humps, Speed Cushions, Speed Tables and AC Dike per location shown on

Мар.

Answer: Please see the last paragraph of section 9-1.01 of the Special

Provisions on pages 21 and 22.

3. Question: The Unit for Bid Items 1 through 3 reflect the item will be paid by the

Lineal Foot. Therefore for Bid Item No 1 the quantity is 950 LF, in referencing the detail provided the LF of the Speed Hump is 12', making the total number of Speed Humps to be installed at 80 ea. I assume the measurement for payment could also reflect the width of the road as the LF, but without the actual location and detail it is impossible to determine the number of Speed Humps to be installed. The same clarification would be needed for the Speed

Cushion and Speed Hump (Figure A-8).

Answer: The measurement of payment for LF is for the width of the

measurement (speed hump, speed cushion, speed table) as described throughout the Special Provisions, not for the length in direction of travel. Please see section 77-1.03 of the specifications

on pages 38 and 39.

4. Question: Bid documents give a rough number of locations, they also mention

phases. How many phases are there going to be on this project and how ling in between phases. What is the timeline for this project.

Answer: This project will have one phase. Please see section 8-1.0 for

estimated working days.

Last Updated: 12/14/2021

5. Question: Bid documents for traffic striping calls out that the city will supply

thermoplastic marking, please clarify.

Answer: Correct, the City will supply thermoplastic markings that are listed in

section 6-1.01. The City will NOT furnish materials needed for Bid

item No.10, detail 22 as shown in Attachment G.

6. Question: City will supply all traffic signs and posts for this project.

Answer: Correct, the City will furnish materials for Bid Item No.5 as listed in

section 6-1.01.

7. Question: What are the working days for this project? According to the special

provisions section 8 it says ten (21) working days. Would you please

give some clarification on that?

Answer: For this project there will be one phase expected to take 21 working

days based on the estimated installation. Disregard the 'ten' in

advance of 21 working days in section 8-1.01.

8. Question: A request for a copy of the detailed bid abstract showing unit prices

and total bid amount and prices bid on May 9,2019

Answer: An LOC is not required, please see attached.

BID ABSTRACT

DEPT/PROJECT No: PW/PW1608

BID TITLE: BID - NEIGHBORHOOD TRAFFIC CALMING PROGRAM

BID OPENING DATE: MAY 9, 2019

ESTIMATE: 397,586,40

For information regarding this project, please contact Chyerle Leach at 209-937-8412 and/or Herminia Rodriguez at 209-937-5136 the day following the bid opening

No.	Bidder	Affirm	Bond	Check			
1.	Robert Burns				431,712.42	2	
2.	0:2 M9 ET ' E ' YAM						
3.							
4.							
5.				-			
6.							:
7.							
8.						ž	
9.							
10.							
11.				,			
ACCOUNT NUMBER (PUBLICATION): 08230206402052 ACCOUNT NUMBER (STAFF):							
CONTRACT AWARDED TO: COUNCIL MEETING DATE:							
MOTION/RESO #: UNSUCCESSFUL BONDS RETURNED:							

CONTRACT #: _____ OB Doc #: ____ Successful Bond Returned: ____

Note: Affirmative Action required for federally funded projects only

NEIGHBORHOOD TRAFFIC CALMING PROGRAM PROJECT NO. PW1608

BIDDING SCHEDULE

Each bidder shall bid each item, including all alternate bid(s). Failure to bid an item shall be just cause for considering the bid as non-responsive. Line item costs should include all Contractor's overhead and profit and indirect costs. Bids not presented on City forms shall be cause for considering the bid as non-responsive.

		-	7		
Item	Description	Unit	Quantity	Unit price	Total Price
1	Install Asphalt Concrete Speed Humps over Existing Pavement	LF	3700	45.65	168,965.0
2	Install Asphalt Concrete Speed Cushions over Existing Pavement	LF	1150	57.20	65,780.00
3	Install Asphalt Concrete Speed Tables over Existing Pavement	LF	180	125.00	22,500.00
4	Install Asphalt Concrete Dikes over existing pavement	LF	80	85.0	6,800.00
5	Install City Furnished Advance Warning and Advisory Speed Signs, bases, posts (at City Option)	EA	160	138.00	
6	Install City Furnished Thermoplastic Chevrons	EA	400	64.00	25,600,00
7	Install City Furnished Thermoplastic Diamonds where required	EA	25	67.00	1,675.00
8	Install City Furnished Thermoplastic BUMP Legends where required	EA	250	78.°°	19,500.00
9	Install City Furnished 4" Thermoplastic Striping where required	LF	7800	5,75	44,850.00
10	Install City Furnished 6" Thermoplastic Striping where required	LF	3500	5,25	18375.0
11	Install City Furnished 8" Thermoplastic Striping where required	LF	200	5.90	1,180.0

				7	
Item	Description	Unit	Quantity	Unit price	Total Price
12	Install City Furnished 4" Thermoplastic 4' Hatch Striping	LF	650	6.25	4,062,50
13	Install City Furnished Thermoplastic Bike Lane Markers where required	EA	30	64.00	1,920.00
14	Install City Furnished Thermoplastic Green Bike Lanes where required	SF	1600	5,75	9,200,00
15	Install City Furnished Thermoplastic Turning Lane Arrows Markings	EA	5	104.00	416.00
16	Install 3 Street Planters at one location	LS	1	6068.92	6,068,92
17	Install RRFB (Country Club at Gardena Ave)	LS	1	12,800.00	12,800,00

TOTAL BID 431, 712.